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A7) 2> 0D #E 16mg [DSEP| &7 7 R REE 15 27 v A4 — —IKIZ L BEEMRA ST 20
LK ERRE OB S L RE5E 18 (427 Y %Y 2 LT 156mg)., /K 150mL]), £H L 71
B REAARIREE ZE UTe, REMRREORERE FRICESE | BT Lok R, RIS
BT DHENRT A= To 2D AUCoas Ot EAE D FHEIMED ZED 90 %[5 FH X [H] 1T 10g(0.8593) ~
10g(0.9790). Cmax D XU D FEIED 7D 90% 15 HEIX 1% 10g(0.8322)~10g(0.9999) TH U | W\ T4
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¥4/ 0 %> 0D $ 15mg IDSEPJ| 7,819+2,023 | 799+190 | 1.6+0.6 | 7.0+1.7 |0.105+0.025
T b AEE 15 8,444+1,759 | 869+181 |1.6=0.9 |6.11.3]0.118%=0.026

(Mean=*S.D., n=20)
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vA 71U %> 0D §E 15mg [DSEP]| 7,864+2,996 | 786234 | 2.0=1.1 | 7.0=1.8|0.1070.032
77 N AEE 15 7,6561£1,927 | 793+238 | 1.9+1.0 | 7.0+2.5|0.109+0.034

(Mean=*S.D., n=20)
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